
 AUSTRALIA, NEW ZEALAND, PAPUA NEW GUINEA 
Customer Service 02-9793-2599

2/198 Walters Road 
Arndell Park NSW 2148  Australia 

Aluminium with Rubber Plug 
343-****

Composite DEFENDER 
366-****

STEER AXLE HUB CAP 4024 SERIES 
Bolt Circle Diameter = 4-1/2” or 114.3mm 
Bolt Size = 5/16” 
Bolt Holes = 6 
A = 2-5/8” or 66.7mm 
B = 1-7/8” or 47.6mm 
C = 3-1/2” or 88.9mm 
D = 5-1/4” or 133.4mm

Composite DEFENDER = 366-4024 
Aluminium with Rubber Plug = 343-4024 
Aluminium with Sentinel Plug = 356-4024 

Hub Cap Gasket = 330-3024 
ESP+ Plug (Pair) = 359-6124 

Window Kit with Rubber Plug = 359-5999 

Window Kit with Sentinel Plug = 359-6143 

STEER AXLE HUB CAP 4046 SERIES 

Bolt Circle Diameter = 5-1/2” or 139.7mm 
Bolt Size = 5/16” 
Bolt Holes = 6 
A = 2-5/16” or 58.7mm 
B = 1-9/16” or 39.7mm 
C = 4-9/16” or 115.9mm 
D = 6-3/16” or 157.2mm

Composite DEFENDER = 366-4009 
Aluminium with Rubber Plug = 343-4046 
Aluminium with Sentinel Plug = 356-4046 

Aluminium with Sentinel Plug & Guard = 348-4046
Hub Cap Gasket = 330-3009 
ESP+ Plug (Pair) = 359-6124 

Window Kit with Rubber Plug = 359-5995 

Window Kit with Sentinel Plug = 359-6145 
Window Kit with Sentinel Plug & Guard = 359-6112

STEER AXLE HUB CAP 4095 SERIES 

Bolt Circle Diameter = 5-1/2” or 139.7mm 
Bolt Size = 5/16” 
Bolt Holes = 6 
A = 1-13/16” or 46mm 
B = 1-1/16” or 27mm 
C = 4-9/16” or 115.9mm 
D = 6-3/16” or 157.2mm 

Aluminium with Rubber Plug = 343-4095 
Aluminium with Sentinel Plug = 356-4095 

Aluminium with Sentinel Plug & Guard = 348-4095
Hub Cap Gasket = 330-3009
ESP+ Plug (Pair) = 359-6124 

Window Kit with Rubber Plug = 359-5995 
Window Kit with Sentinel Plug = 359-6145 

Window Kit with Sentinel Plug & Guard = 359-6112

STEER AXLE HUB CAP 4249 SERIES 
Bolt Circle Diameter = 5-1/2” or 139.7mm 
Bolt Size = 5/16” 
Bolt Holes = 6 
A = 2-5/16” or 58.7mm 
B = 1-9/16” or 39.7mm 
C = 4-9/16” or 115.9mm 
D = 6-3/16” or 157.2mm

Aluminium with Rubber Plug = 343-4249 
Hub Cap Gasket = 330-3122 

Window Kit with Rubber Plug = 359-5912 

STEER AXLE HUB CAP 4281 SERIES 

Bolt Circle Diameter = 5-17/32” or 140.5mm 
Bolt Size = 5/16” or 3/8” 
Bolt Holes = 6 
A = 2-5/16” or 58.7mm 
B = 1-9/16” or 39.7mm 
C = 4-9/16” or 115.9mm 
D = 6-3/16” or 157.2mm 

Composite DEFENDER = 366-4009 (5/16" Bolt Only) 
Aluminium with Rubber Plug = 343-4281 
Aluminium with Sentinel Plug = 356-4281 

Aluminium with Sentinel Plug & Guard = 348-4281
Hub Cap Gasket = 330-3122
ESP+ Plug (Pair) = 359-6124 

Window Kit with Rubber Plug = 359-5995 
Window Kit with Sentinel Plug = 359-6145

Window Kit with Sentinel Plug & Guard = 359-6112

DRIVE AXLE HUB CAP (TAG Axle) 4119 SERIES 
Bolt Circle Diameter = 7” or 177.8mm 
Bolt Size = 5/8” 
Bolt Holes = 8 
A = 2-1/16” or 52.4mm     B = 1-5/16” or 33.3mm 
C = 4-5/16” or 109.5mm   D = 8-1/4” or 209.5mm

Aluminium with Rubber Plug = 340-4119 
Hub Cap Gasket = 330-3090 
ESP+ Plug (Pair) = 359-6124 

Window Kit with Rubber Plug = 359-5995 

COMMON HUB CAPS - TRUCK

Aluminium with Sentinel Plug & Guard 
348-****

clawler
Cross-Out




